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JAIN VISHVA BHARATI INSTITUTE, LADNUN 
(DEEMED UNIVERSITY) 

RET  JULY - 2016 
 

PART – I  
LOGICAL REASONING AND APTITUDE TEST 

 
DATE OF EXAMINATION :        
 
ROLL NO. :                SIG. OF INVIGILATOR 
 
TOTAL TIME (PART-I TO III) : 03 HOURS                MARKS : 50X2=100 
 
NOTE :  
 
1. All questions are compulsory and of objective type. / lHkh iz'u vfuok;Z ,oa oLrqfu"B gSaA   
2. All questions carry equal marks. / lHkh iz'uksa ds vad leku gSA  
3. Only one answer is to be given for each question. /  izR;sd iz'u dk ,d gh mÙkj nsuk gSA  
4. If more than one answer is marked, it would be treated as wrong answer. / ,d ls 

vf/kd mÙkj nsus dh n'kk esa iz'u ds mÙkj dks xyr ekuk tk;sxkA 

 

1- fuEu esa ls dkSu&lh ifj"kn dk fo?kVu 2013 esa fd;k x;k\ 
 Which one of the following Councils has been disbanded in 2013? 
 ¼v½ nwjLFk f'k{kk ifj"kn 

     Distance Education Council (DEC) 

 ¼c½ jk"Vªh; f'k{kd f'k{kk ifj"kn 

     National Council for Teacher Education (NCTE)  

 ¼l½ jk"Vªh; 'kSf{kd vuqlU/kku ,oa izf'k{k.k ifj"kn 

     National Council of Educational Research and Training (NCERT) 

 ¼n½ jk"Vªh; ewY;kadu ,oa ekU;rk ifj"kn 

            National Assessment and Accreditation Council (NAAC)  

    ¼    ½ 

2- 6, 4, 1, 2, 2, 8, 7, 4, 2, 1, 5, 3, 8, 6, 2, 2, 7, 1, 4, 1, 3, 5, 8, 6, bl Ja[̀kyk esa fdrus tksM+s 
Øec) la[;k esa gS] ftuds chp 2 dk vUrj gS\ 

 In this series: 6, 4, 1, 2, 2, 8, 7, 4, 2, 1, 5, 3, 8, 6, 2, 2, 7, 1, 4, 1, 3, 5, 8, 6, how many 
pairs of successive numbers have a difference of 2 each ? 

 ¼v½ 4 ¼c½ 5  

 ¼l½ 6 ¼n½ 8  

    ¼    ½ 
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3- ,d O;fDr dks lso o vke [kjhnus gSA lso izfr ux #- 7 o vke izfr ux #- 5 gSA ;fn 
mlds ikl 38#i;s gSa rks og fdrus lso [kjhn ldrk gS\ 

 A person has to buy both apples and mangoes. The cost of one apple is Rs7/- 
whereas that of a mango is Rs.5/-. If the person has Rs.38, the number of apples he 
can buy is 

 ¼v½ 1 ¼c½ 2  

 ¼l½ 3 ¼n½ 4  

    ¼    ½ 

4- vkjrh o dkty vaxzsth cksy o le> ldrh gSA fcVw] vpZuk dh Hkkafr fgUnh fy[k o i<+ 
ldrh gSA vpZuk] vkjrh ls caxkyh esa ckr djrh gSA dkty dks caxkyh le> ugha vkrhA 
fcVw] vkjrh ls fgUnh esa ckr djrh gSA og dkSu gS tks vaxzsth] fgUnh vkSj caxkyh cksy o 
le> ldrk gS\ 

 Arti and Kajal can speak and follow English. Bitu can write and speak Hindi as 
Archana does. Archana talks with Arti also in Bengali. Kajal cannot follow Bengali. 
Bitu talks with Arti in Hindi. Who can speak and follow English, Hindi and Bengali?  

 ¼v½ vpZuk@Archana ¼c½ fcVw@Bitu  
 ¼l½ vkjrh@Arti ¼n½ dkty@Kajal  

    ¼    ½ 

5- ,d fuf'pr lkadsfrd Hkk"kk esa QUESTION 'kCn dks ladsrksa esa DOMESTIC fy[kk tkrk gS] 
rks bl lkadsfrd Hkk"kk esa RESPONSE dks D;k fy[ksaxs\ 

 In certain coding method, the word QUESTION is encoded as DOMESTIC. In this 
coding, what is the code word for the word RESPONSE? 

 ¼v½ OMESUCEM ¼c½ OMESICSM  

 ¼l½ OMESICEM ¼n½ OMESISCM  

    ¼    ½ 

6- nh xbZ J̀a[kyk esa fjDr LFkku esa lgh fodYi pqu dj fy[ksaA 
Choose the correct alternative in the given sequence 2, 7, 14, 23, ….. , 47 

 ¼v½ 31 ¼c½ 28  

 ¼l½ 34 ¼n½ 38  

    ¼    ½ 

7- ,d O;fDr 5 fd-eh- izfr?k.Vs dh xfr ls 6 ?k.Vs o 4 fd-eh- izfr?k.Vs dh xfr ls 12 
?k.Vs pyrk gSA mldh vkSlr pky gS& 

 A man walks at 5 km per hour for 6 hour and at 4 km per hour for 12 hours. His 
average speed is- 

 ¼v½ 4  fd-eh- izfr ?k.Vk@4  km/hr 

 ¼c½ 7  fd-eh- izfr ?k.Vk@7  km/hr  

 ¼l½ 9  fd-eh- izfr ?k.Vk@9  km/hr 

 ¼n½ 8 fd-eh- izfr ?k.Vk@8 km/hr  

    ¼    ½ 
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8- ,d Vªsu ,d fuf'pr nwjh 50 fefuV esa iwjk djrh gSA ;fn ;g Vªsu 48 fd-eh- izfr?k.Vs dh 
xfr ls pyrh gS rks mlh nwjh dks 40 fefuV esa iwjk djus ds fy, Vªsu dh xfr fdruh 
djuh gksxh\ 

 A train covers a distance in 50 minutes. If it runs at a speed of 48kmph on an 
average, the speed at which the train must run to reduce the time of journey to 40 
minutes will be? 

 ¼v½ 45 fd-eh- izfr ?k.Vk@45 kmph 

 ¼c½ 60 fd-eh- izfr ?k.Vk@60 kmph  

 ¼l½ 55 fd-eh- izfr ?k.Vk@55 kmph 

 ¼n½ 70 fd-eh- izfr ?k.Vk@70 kmph  

    ¼    ½ 

9- ;fn 9 O;fDr izfrfnu 6 ?k.Vs dk;Z djds fdlh dk;Z dks 88 fnu esa iwjk djrs gSa rks mlh 
dke dks 6 O;fDr izfrfnu 8 ?k.Vs dk;Z djds fdrus fnu esa iwjk djsaxs\ 

 If 9 men working 6 hours a day can do a work in 88 days. Then 6 men working 8 
hours a day can do it in how many days? 

 ¼v½ 89 fnu@89 days 

 ¼c½ 90 fnu@90 days  

 ¼l½ 85 fnu@85 days 

 ¼n½ 99 fnu@99 days  

    ¼    ½ 

10- orZeku esa ekuo lalk/ku ea=ky; dk dsUnzh; ea=h dkSu gS\ 
 Who is the present Union Minister of Human Resource Development? 

 ¼v½ Lèfr bZjkuh@Smriti Irani 

 ¼c½ izdk'k tkoM+sdj@Prakash Javdekar  

 ¼l½ eq[rkj vCckl uDoh@Mukhtar Abbas Naqvi 

 ¼n½ esudk xka/kh@Menaka Gandhi  

    ¼    ½ 

11- Hkkjr dh dkSulk izkphu LFky UNESCO ds }kjk gky gh esa fo'o fojklr LFky ?kksf"kr 
fd;k x;k gS\ 
Which ancient site of India was recently declared as the UNESCO World Heritage 
site? 

 ¼v½ Hkkjrh; ioZr jsyos@Mountain Railways of India 
 ¼c½ xksok ds ppZ ,oa eB@Churches & Convents of Goa 

 ¼l½ ukyUnk egkfogkj@Nalanda Mahavihara 

 ¼n½ egkcksf/k efUnj@Mahabodhi Temple  

    ¼    ½ 
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12- lq'khyk pkuq fdl [ksy lEcfU/kr gS\@Sushila Chanu is associated with which sports? 
 ¼v½ gkWdh@Hockey ¼c½ jslfyax@Wrestling  

 ¼l½ QqVcky@Football ¼n½ fØdsV@Cricket  

    ¼    ½ 

13- Hkxoku egkohj ds ekrk&firk Fks&@Bhagwan Mahavir was born to- 
 ¼v½ fl)kFkZ vkSj f='kyk@Siddhartha & Trisala 

 ¼c½ fcUnqlkjk vkSj ;'kksnk@Bindusara & Yasoda 

 ¼l½ 'kq)ksnuk vkSj ek;k@Suddhodana & Maya 

 ¼n½ pUnznso vkSj lqfe=k@Chandradev & Sumitra  

    ¼    ½ 

14- Hkxoku egkohj …………….. tSu rhFkZadj Fks&@ 
 Bhagwan Mahavira was the …………….. Jain Tirthankara 

 ¼v½ 22osa@22nd ¼c½ 23osa@23rd  

 ¼l½ 24osa@24th ¼n½ 25osa@25th  

    ¼    ½ 

15- jktLFkku dsUnzh; fo'ofo|ky; fLFkr gS& 
 Central University of Rajasthan is located at- 
 ¼v½ tks/kiqj@Jodhpur 

 ¼c½ fd'kux<+@Kishangarh  

 ¼l½ vtesj@Ajmer 

 ¼n½ t;iqj@Jaipur  

    ¼    ½ 

16- bl J̀a[kyk dks nsf[k, 8, 22, 8, 28, 8, …… vxyk vad dkSulk vkuk pkfg,A 
 Look at this series: 8, 22, 8, 28, 8, …… What number should come next? 
 ¼v½ 29 ¼c½ 32  

 ¼l½ 34 ¼n½ 09  

    ¼    ½ 

17- vizklafxd ;k vizkfFkZr lans'k baVjusV ij Hksts x;s] fo'ks"kr% cgqr cM+s miHkksDrk lewg dks] 
mls dgk tkrk gS& 

 Irrelevant or unsolicited messages sent over the Internet, typically to large numbers 
of users is referred to as- 

 ¼v½ ok;jl@virus 

 ¼c½ Lese@spam  

 ¼l½ oke@worm 

 ¼n½ fQf'kax@phishing  

    ¼    ½ 
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18- ,d Compact Disc (R) ij MkVk fy[kus dh izfØ;k dks dgk tkrk gS& 
 The process of writing data on a Compact Disc (R) is referred to as- 
 ¼v½ digitizing  

 ¼c½ zipping  

 ¼l½ burning  

 ¼n½ copying  

    ¼    ½ 

19- vPNs f'k{k.k ds fy, vko';d gS&@What are required of good teaching- 
 (a)  funku@Diagnosis  (b) mipkj@Remedy  (c) funsZ'k@Direction  (d) izfriqf"V@Feedback 
 ¼v½ a, b, c, & d ¼c½ a & b 

 ¼l½ b, c, & d ¼n½ c & d  

    ¼    ½ 

20- fuEu esa ls dkSulk okD; lg;ksxkRed vuqla/kku ds izlax esa lgh ugha gS\ 
 Which of the following statements is not true of Participatory Research? 
 ¼v½ ;g Kku dks 'kfDr ds :i esa igpkurk gS 

            It recognizes knowledge as power 

 ¼c½ ;g fo'ks"kKksa ds :i esa O;fDr;ksa ij ncko cukrk gS 

            It emphasizes on people as experts  

 ¼l½ ;g O;fDr;ksa ds vkilh lg;ksx ls gksrk gS 

     It is done with the involvement of people 

 ¼n½ bl ewy mís'; Kku dk mRiknu gS 

            its sole purpose is production of knowledge  

    ¼    ½ 

21- vuqla/kku ds uSfrd ekun.M esa fu;e 'kkfey ugha gksrs& 
 Ethical norms in research do not involve rules for- 
 ¼v½ 'kks/k&izcU/k dks izk:i nsuk@Formatting of the thesis 

 ¼c½ dkWihjkbZV@Copyright  

 ¼l½ ,dkf/kdkj uhfr@Patenting Policy 

 ¼n½ vkadM+s foHkktu uhfr@Data sharing policy  

    ¼    ½ 

22- 210 fo|kfFkZ;ksa ds ,d lewg us ,d VsLV esa Hkkx fy;kA ⅓ fo|kfFkZ;ksa dk ek/; 60 ik;k 
x;kA 'ks"k fo|kfFkZ;ksa dk ek/; 78 ik;k x;kA ml iwjs lewg dk ek/; gksxk& 

 A group of 210 students appeared in a test. The Mean of 1/3 rd of students is found 
to be 60. The mean of the remaining students is found to be 78. The mean of the 
whole group would be- 

 ¼v½ 90 ¼c½ 77 

 ¼l½ 64 ¼n½ 72  

    ¼    ½ 
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23- Lo;a ds lkFk lapkj dks tkuk tkrk gS& 
 Communication with oneself is known as- 
 ¼v½  O;oLFkkiu lEcfU/kr lapkj 

  Organisational Communication 

 ¼c½  vQokg lapkj 

  Grapewine Communication  

 ¼l½  ikjLifjd lapkj 

  Interpersonal Communication 

 ¼n½  vUrlZaLFkkfud lapkj 

  Intrapersonal Communication  

    ¼    ½ 

24- dFku (a) : flDds dks tc vxyh ckj mNkyk tk;sxk rks tails gh vk;sxkA 
 dkj.k (r) : D;ksafd flDds dks 5 ckj ,d gh lh/k esa mNkyk x;k Fkk] vkSj gj ckj heads 

gh vk;k FkkA 
 fuEu esa lgh mÙkj dk p;u djksA 
 Assertion (a): The coin when flipped next time will come up tails.  
 Reason (r): Because the coin was flipped five times in a row, and each time it came 

up heads. 
 Choose the correct answer from below : 
 ¼v½ (a) o (r) nksuksa lgh gS] o (r), (a) dh lgh O;k[;k gS 

            Both  (a)  and  (r)  are  true,  and (r)  is  the  correct  explanation of (a) 

 ¼c½ (a) o (r) nksuksa xyr gS] o (r), (a) dh lgh O;k[;k gS 

            Both  (a)  and  (r)  are  false,  and (r)  is  the  correct  explanation of (a)  

 ¼l½ (a) lafnX/k gS (r) lgh gS] o (r), (a) dh lgh O;k[;k ugha gS 

     (a) is doubtful, (r) is true, and (r) is not the correct explanation of (a) 

 ¼n½ -(a) lafnX/k gS (r) xyr gS] o (r), (a) dh lgh O;k[;k gS 

            (a) is doubtful, (r) is false, and (r) is the correct explanation of (a)  

    ¼    ½ 

25- fuEu esa ls dkSulk vkWuykbZu lks'ky usVodZ gS& 
 Which of the following is an online social network? 
 ¼v½ f¶YidkVZ@Flipkart 

 ¼c½ bZcs@eBay  

 ¼l½ jsfMQeSy-dkWe@rediffmail.com 

 ¼n½ gkbZd@hike  

    ¼    ½ 
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PART – II 

RESEARCH METHODOLOGY AND COMPUTER APPLICATIONS 

26- vkxeukRed rkfdZd v/;;u fof/k dh izkd~dYiuk@vk/kkj okD; fdlesa gks ldrk gS\ 
 Inductive logic studies the way in which a premise may? 
 ¼v½ fu"d"kZ dks leFkZu nsuk o vko';d cukuk 

            support and entail a conclusion 

 ¼c½ fu"d"kZ dks leFkZu uk nsuk ysfdu vko';d cukuk 

            not support but entail a conclusio  

 ¼l½ fu"d"kZ dks uk rks leFkZu nsuk uk gh vko';d cukuk 

     neither support nor entail a Conclusion 

 ¼n½ fcuk vko';d cuk;s fu"d"kZ dks leFkZu nsuk 

            support a conclusion without entailing it  

    ¼    ½ 

27- fuEu esa ls dkSulh application vkadM+s lkj.khdj.k o fo'ys"k.k esa iz;ksx dh tkrh gS\ 
 Which of the application can be used for data tabulation & analysis? 
 ¼v½ ,e-,l- oMZ@MS Word 

 ¼c½ ,e-,l- ,Dly@MS Excel  

 ¼l½ ,e-,l- ikWojikWbUV@Ms Powerpoint 

 ¼n½ buesa ls dksbZ ugha@None of these  

    ¼    ½ 

28- SPSS dk iw.kZ :i gS&@SPSS stands for- 
 ¼v½ Software Planning in Social Sciences 

 ¼c½ Software Package for the Social Sciences  

 ¼l½ Statistical Package for the Social Sciences 

 ¼n½ None of these  

    ¼    ½ 

29- gk;iksfFkfll dk D;k eryc gS\@What does a Hypothesis mean? 
 ¼v½ ;g ,d vfuf'pr lkekU;hdj.k] ftldks vHkh izekf.kr fd;k tkuk gS 

            It is a tentative generalization that is yet to be proved 

 ¼c½ ;g dsoy mu vuqla/kkuksa ls tqM+h gS] tks izkFkfed vkadM+ksa ij vk/kkfjr gS 

            It is related to only those researches that are based on primary data  

 ¼l½ ;g dsoy mu vuqla/kkuksa ls tqM+h gS] tks f}rh;d vkadM+ksa ij vk/kkfjr gS 

     It is related to only those researches that are based on secondary data 

 ¼n½ buesa ls dksbZ ugha@None of these  

    ¼    ½ 
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30- vo/kkj.kk&tfur ekiu gS&@Concept made measureable is- 
 ¼v½ ifjHkk"kk@Definition 

 ¼c½ ifjorhZ jkf'k@Variable  

 ¼l½ izrhd@Symbol 

 ¼n½ buesa esa ls dksbZ ugha@None of these  

    ¼    ½ 

31- Hkk"kk] i{kikr dk ,d xEHkhj lzksr gks ldrk gS& 
 Language can become a serious source of bias in- 
 ¼v½ xq.kkRed vuqlaU/kku@Qualitative Research 

 ¼c½ lkaf[;d vuqlU/kku@Statistical Research 

 ¼l½ xf.krh; vuqlU/kku@Mathematical Research 

 ¼n½ buesa ls dksbZ ugha@None of these  

    ¼    ½ 

32- lglEcU/k dk xq.kkad fuEu ds e/; fLFkr gksrk gS& 
 Coefficient of Correlation lies between- 
 ¼v½ 0 to 1 ¼c½ -1 to 1  

 ¼l½ -∞ to ∞ ¼n½ 0 to ∞  

    ¼    ½ 

33- Open Ended Questions eq[;r% iz;ksx esa fy;s tkrs gSa& 
 Open Ended Questions are mostly used in- 
 ¼v½ ladsfUnzr lewg ppkZ@Focus Group Discussions 

 ¼c½ iz'ukoyh@Questionnaires  

 ¼l½ lk{kkRdkj@Interview Schedules 

 ¼n½ buesa ls dksbZ ugha@None of these  

    ¼    ½ 

34- MsLd fjlpZ ¼ys[ku vuqlU/kku½ fudV :i ls lEc) gS& 
 Desk research is more closely associated with- 
 ¼v½ losZ{k.k vuqla/kku 

  Survey Research 

 ¼c½ /kkfeZd v/;;u 

  Religious Studies  

 ¼l½ izk;ksfxd vuqlU/kku 

  Experimental Research 

 ¼n½ uSnkfud v/;;u 

  Clinical Studies  

    ¼    ½ 
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35- izkFkfed vkadM+s n'kkZrs gSa&@Primary data denotes- 
 ¼v½ izkFkfed Lrj ds vk/kkj ij vkadM+k ladyu 

            Data collected on first hand basis 

 ¼c½ rRdky vuqlU/kku v/;;u ds fy, vuqlU/kkudrkZ }kjk vkadM+k ladyu 

           Data Collected by the researcher for the current on hand research  

 ¼l½ vuqHko fl) <ax ls vkadM+k ladyu 

     Empirically collected data 

 ¼n½ buesa ls lHkh@All of the these  

    ¼    ½ 

36- uewuk izfr dk vuqdj.k djuk rkfd&@Sampling is carried out so as to- 
 ¼v½ ykxr dks de djuk@Minimize cost 

 ¼c½ layXu le; dk de djuk@Minimize time involved  

 ¼l½ fØ;kdyki ds ljyhdj.k ls lqfuf'pr djuk@Ensure ease of operations 

 ¼n½ buesa ls lHkh@All the these  

    ¼    ½ 

37- foKku vk/kkfjr gS&@Science is based on- 
 ¼v½ lgt Kku lEcfU/kr vuqlU/kku@Intuitive research 

 ¼c½ nk'kZfud vuqlU/kku@Philosophical Research  

 ¼l½ izrh;eku ds e/; dkj.k o izHkko ds lEcU/k dks le>uk 

     Understanding cause & effect relationships between phenomena 

 ¼n½ buesa ls dksbZ ugha@None of the above  

    ¼    ½ 

38- uewukdj.k esa] ykWVjh eSFkM dk iz;ksx gksrk gS& 
 In sampling, the lottery method is used for- 
 ¼v½ Li"Vhdj.k ds fy,@Interpretation 

 ¼c½ lS)kfrddj.k ds fy,@Theorisation  

 ¼l½ oSpkfjdrk ds fy,@Conceptualisation 

 ¼n½ Øeghurk@vØehdj.k@Randomisation  

    ¼    ½ 

39- fuEu esa ls dkSu&lh ,d vuqlU/kku dh fo'ks"krk ugha gS\ 
 Which of the following is NOT the characteristic of research? 
 ¼v½ vuqlU/kku Øec)rk gS@Research is systematic 

 ¼c½ vuqlU/kku ,d izfØ;k ugha gS@Research is not a process  

 ¼l½ vuqlU/kku leL;k vk/kkfjr gS@Research is problem oriented 

 ¼n½ vuqlU/kku deZiz/kku ugha gS@Research is not passive  

    ¼    ½ 
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40- ,d larks"ktud lkaf[;dh ifj.kkekRed iz.kkyh fuEu fo'ks"krkvksa esa fdlh ,d dh izfØ;k 
ugha djuh pkfg;s& 

 A satisfactory statistical quantitative method should NOT possess one of the 
following qualities- 

 ¼v½ vkSfpR;@Appropriateness 

 ¼c½ ekiu ;ksX;rk@Measureability  

 ¼l½ rqyukRedrk@Comparability 

 ¼n½ yphykiu@Flexibility  

    ¼    ½  

41 iqLrdsa o fyf[kr izek.k] vkadM+ksa ds izkFkfed lzksr gksrs gSa& 
 Books and records are the primary sources of data in- 
 ¼v½ ,sfrgkfld vuqlU/kku@Historical Research 

 ¼c½ lgHkkfxrk vuqlU/kku@Participatory Research  

 ¼l½ uSnkfud vuqlU/kku@Clinical Research 

 ¼n½ iz;ksx'kkyk vuqlU/kku@Laboratory Research  

    ¼    ½ 

42- fuEu esa ls dkSu i"̀B ekiu esa dEI;wVj 'kkWVZdV ls lEcfU/k ugha gS& 
 Which is NOT related to page alignment in computer short-cuts- 
 ¼v½ ctrl+E  

 ¼c½ ctrl+L  

 ¼l½ ctrl+F  

 ¼n½ ctrl+R  

    ¼    ½ 

43- NSSO ,d laLFkk gS tks O;olk;@ifjopu vuqlU/kku iz;ksx ls lEcfU/kr gS& 
 NSSO is an institution that is related with undertaking research using- 
 ¼v½ tula[;k ladyu iz.kkyh@census survey methods 

 ¼c½ uewuk iz.kkyh@sampling methods  

 ¼l½ iz;ksx'kkyk vuqlU/kku iz.kkyh@laboratory research methods 

 ¼n½ uSnkfud vuqlU/kku@clinical research  

    ¼    ½ 

44- fuEu esa ls fdl vuqlU/kku iz.kkyh esa eqqq qqqq[;r% Field Notes dke esa ugha fy;s tkrs& 
 Field Notes are basically NOT used in which type of research- 
 ¼v½ ifj.kke lEcU/kh vuqlU/kku@quantitative research 

 ¼c½ ekuo'kkL=h; vuqlU/kku@anthropological research  

 ¼l½ xq.kkRed vuqlU/kku@qualitative research 

 ¼n½ O;fDr bfrgkl fof/k@case studies  

    ¼    ½ 
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45- fdlus lkaf[;dh dks vuqeku vkSj lEHkkoukvksa dk foKku ifjHkkf"kr fd;k gS\ 
 Who defined Statistics as the science of estimates and probabilities? 
 ¼v½ cksfMaxVu@Bodington 

 ¼c½ ckWoys@Bowley  

 ¼l½ fQ'kj@Fisher 

 ¼n½ vxzoky@Agrawal  

    ¼    ½ 

46- oSpkfjd vuqlU/kku esa vuqØfed fl)kUr@lafØ;k& 
 The sequential operations in scientific research are- 
 ¼v½ lfofo/krk] feF;k lacU/k dks fu"dklu] lkekU;hdj.k] lS)kfUrdj.k 

            Co-variation, Elimination of Spurious Relations, Generalisation, Theorisation 

 ¼c½ lkekU;hdj.k] lfofo/krk] lS)kfUrdj.k] feF;k lacU/k dk fu"dklu] 

            Generalisation, Co-variation, Theorisation, Elimination of Spurious Relations  

 ¼l½ lS)kfUrdj.k] lkekU;hdj.k] feF;k lacU/k dk fu"dklu] lfofo/krk 

     Theorisation, Generalisation, Elimination of Spurious Relations, Co-variation 

 ¼n½ feF;k lacU/k dk fu"dklu] lS)kfUrdj.k] lkekU;hdj.k] lfofo/krk 

            Elimination of Spurious Relations, Theorisation, Generalisation, Co-variation.  

    ¼    ½ 

47- vuqlU/kku dk eq[; mís'; dkSulk gS\@Which is the main objective of research? 
 ¼v½ u;s rF;ksa dh [kkst ;k Kkr rF;ksa dk u;s rjhds ls fo'ys"k.k 

            To discover new facts or to make fresh interpretation of known facts 

 ¼c½  Kkr dk laf{kfIrdj.k djuk 

  To summarize what is already known  

 ¼l½  vdknfed fMxzh izkIr djuk 

  To get an academic degree 

 ¼n½  lkfgR; dk iqujkoyksdu 

  To review the literature  

    ¼    ½ 

48- Sampling error ls deh vkrh gS&@Sampling error decreases with the- 
 ¼v½ uewuk vkdkj esa deh 

            decrease in sample size 

 ¼c½ uewuk vkdkj esa of̀) 

            increase in sample size  

 ¼l½ vØfedj.k dh izfØ;k 

     process of randomization 

 ¼n½ fo'ys"k.k dh izfØ;k 

            process of analysis  

    ¼    ½ 
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49- fuEu esa ls dkSulh nks ifjorZu'khy oLrqvksa ds chp ,d js[kh; la?k dh rkdr dk ekiu 
gS& 

 Which of the following is a measure of the strength of a linear association between 
two variables- 

 ¼v½ t-test ¼c½ Anova  

 ¼l½ Chi-Square Test ¼n½ Pearson’s Correlation  

    ¼    ½ 

50- lkekftd foKku vuqlU/kku esa ifjorZu'khyrk dh fØ;k'khyrk dk eryc gS& 
 ‘Operationalization of Variables’ in social science research means- 
 ¼v½ ifjorZu'khyrk dk le>us ds fy, i;kZIr ljyrk nsuk 

            Making the variables simple enough to understand 

 ¼c½ ifjorZu'khyrk dks ekiu ;ksX; cukuk 

            Making the variables measurable  

 ¼l½ ifjorZu'khyrk dks rkfdZd Øe yxkuk 

     Arranging the variables in a logical order 

 ¼n½ ifjorZu'khyrk dks vuqlU/kku ;ksX; cukuk 

            Making the variables fit for research  

    ¼    ½ 

ÛÛÛ 


